

# **Summary of Bids Received**

**Project:** Deerfield Parkway and Buffalo Grove Rd UTW

**Section:** 10-00999-11-RS

**Description:** Deerfield Parkway and Buffalo Grove Rd Ultra-Thin Whitetopping

| Plote Construction 1100 Brandt Drive Elgin, IL 60120 Bid Bond \$875,831.40 13.78% \$10 Alliance Contractors, Inc. 1166 Lake Avenue Woodstock, IL 60098 Bid Bond \$884,823.20 14.95% \$11 A Lamp Concrete Contractors, Inc. 1900 Wright Blvd Schaumburg, IL 60193 Bid Bond \$1,121,767.50 45.73% \$35 Engineer's Estimate \$769,770.15 | Bidder                            | Address           | City, State, Zip          | Bond     | Bid Price            | % Over/Under<br>Eng. Estimate | \$ Over/Under Eng<br>Estimate |
|---|-----------------------------------|-------------------|---------------------------|----------|----------------------|-------------------------------|-------------------------------|
| Alliance Contractors, Inc. 1166 Lake Avenue Woodstock, IL 60098 Bid Bond \$884,823.20 14.95% \$11 A Lamp Concrete Contractors, Inc. 1900 Wright Blvd Schaumburg, IL 60193 Bid Bond \$1,121,767.50 45.73% \$35  Engineer's Estimate \$769,770.15  Design IDOT(2) Contract Bidder MGB then Plan Rack                                    | Triggi Construction, Inc.         | P.O. Box 235      | West Chicago, IL 60186-02 | Bid Bond | \$750,447.77         | -2.51%                        | -\$19,322.3                   |
| A Lamp Concrete Contractors, Inc. 1900 Wright Blvd Schaumburg, IL 60193 Bid Bond \$1,121,767.50 45.73% \$35  Engineer's Estimate \$769,770.15  Design IDOT(2) Contract Bidder MGB then Plan Rack  | Plote Construction                | 1100 Brandt Drive | Elgin, IL 60120           | Bid Bond | \$875,831.40         | 13.78%                        | \$106,061.2                   |
| Engineer's Estimate \$769,770.15  Design IDOT(2) Contract Bidder MGB then Plan Rack   | Alliance Contractors, Inc.        | 1166 Lake Avenue  | Woodstock, IL 60098       | Bid Bond | \$884,823.20         | 14.95%                        | \$115,053.0                   |
| Design IDOT(2) Contract Bidder MGB then Plan Rack   | A Lamp Concrete Contractors, Inc. | 1900 Wright Blvd  | Schaumburg, IL 60193      | Bid Bond | \$1,121,767.50       | 45.73%                        | \$351,997.3                   |
|   | Engineer's Estimate               |                   |                           |          | \$769,770.15         |                               |                               |
| Finance Bid Tab File Resident Eng Administrative Assistant  | Design                            | IDOT(2)           | Contract Bidder           |          | MGB then Plan Rack   |                               |                               |
|   | Finance                           | Bid Tab File      | Resident Eng.             |          | Administrative Assis | tant                          | <del></del>                   |
| Construction Project File Request By Mail Mgr Capital Programming   | Construction                      | Project File      | Request By Mail           |          | Mgr Capital Progran  | nming                         |                               |
|   |                                   |                   |                           |          |                      |                               |                               |



### **Return Bid Tabulation**

Project: Deerfield Parkway and Buffalo Grove Rd UTW

Section: 10-00999-11-RS

**Description:** Deerfield Parkway and Buffalo Grove Rd Ultra-Thin Whitetopping

| Item No. | Pay Code  | Description  | Quantity | Unit  | Eng Est    | imate        | Alliance Cont | ractors, Inc. | Plote Cons | struction    | Triggi Const | ruction, Inc. | A Lamp Concre | -            |
|----------|-----------|--|----------|-------|------------|--------------|---------------|---------------|------------|--------------|--------------|---------------|---------------|--------------|
|          | . uy couc | 2 compton  | Quantity | 0     | Unit Price | Extnd. Price | Unit Price    | Extnd. Price  | Unit Price | Extnd. Price | Unit Price   | Extnd. Price  | Unit Price    | Extnd. Price |
| 1        | 20100110  | TREE REMOVAL (6 TO 15 UNITS DIAMETER)              | 245.0    | UNIT  | \$26.00    | \$6,370.00   | \$12.00       | \$2,940.00    | \$12.00    | \$2,940.00   | \$12.00      | \$2,940.00    | \$20.00       | \$4,900.00   |
| 2        | 20100210  | TREE REMOVAL (OVER 15 UNITS DIAMETER)              | 24.0     | UNIT  | \$30.00    | \$720.00     | \$14.00       | \$336.00      | \$14.00    | \$336.00     | \$14.00      | \$336.00      | \$30.00       | \$720.00     |
| 3        | 20101200  | TREE ROOT PRUNING                                  | 2.0      | EACH  | \$85.00    | \$170.00     | \$65.00       | \$130.00      | \$65.00    | \$130.00     | \$65.00      | \$130.00      | \$100.00      | \$200.00     |
| 4        | 20101350  | TREE PRUNING (OVER 10 INCH DIAMETER)               | 2.0      | EACH  | \$115.00   | \$230.00     | \$65.00       | \$130.00      | \$65.00    | \$130.00     | \$65.00      | \$130.00      | \$125.00      | \$250.00     |
| 5        | 20101400  | NITROGEN FERTILIZER NUTRIENT                       | 31.0     | POUND | \$4.00     | \$124.00     | \$1.50        | \$46.50       | \$2.00     | \$62.00      | \$1.50       | \$46.50       | \$1.00        | \$31.00      |
| 6        | 20101600  | POTASSIUM FERTILIZER NUTRIENT                      | 31.0     | POUND | \$4.00     | \$124.00     | \$1.50        | \$46.50       | \$2.00     | \$62.00      | \$1.50       | \$46.50       | \$1.00        | \$31.00      |
| 7        | 20200100  | EARTH EXCAVATION                                   | 927.0    | CU YD | \$28.00    | \$25,956.00  | \$10.00       | \$9,270.00    | \$29.50    | \$27,346.50  |              | \$32,445.00   | \$35.00       | \$32,445.00  |
| 8        | 21101615  | TOPSOIL FURNISH AND PLACE, 4"                      | 1,649.0  | SQ YD | \$5.50     | \$9,069.50   | \$3.60        | \$5,936.40    | \$4.00     | \$6,596.00   | \$3.60       | \$5,936.40    | \$2.00        | \$3,298.00   |
| 9        |           | SODDING, SALT TOLERANT                             | 2,592.0  | SQ YD | \$4.50     | \$11,664.00  | \$5.25        | \$13,608.00   | \$13.50    | \$34,992.00  |              | \$13,608.00   | \$7.00        | \$18,144.00  |
| 10       |           | SUPPLEMENTAL WATERING                              | 5.0      | UNIT  | \$40.00    | \$200.00     | \$1.00        | \$5.00        | \$0.10     | \$0.50       |              | \$5.00        | \$1.00        | \$5.00       |
| 11       |           | PERIMETER EROSION BARRIER                          | 550.0    | FOOT  | \$4.50     | \$2,475.00   | \$2.20        | \$1,210.00    | \$7.50     | \$4,125.00   |              | \$1,650.00    | \$2.00        | \$1,100.00   |
| 12       |           | INLET FILTERS                                      | 31.0     | EACH  | \$150.00   | \$4,650.00   | \$75.00       | \$2,325.00    | \$130.00   | \$4,030.00   |              | \$4,278.00    | \$50.00       | \$1,550.00   |
| 13       |           | AGGREGATE BASE COURSE, TYPE B, 4"                  | 829.0    | SQ YD | \$10.00    | \$8,290.00   | \$1.00        | \$829.00      | \$5.50     | \$4,559.50   |              | \$3,730.50    | \$4.50        | \$3,730.50   |
| 14       | 35101800  | AGGREGATE BASE COURSE, TYPE B, 6"                  | 792.0    | SQ YD | \$12.00    | \$9,504.00   | \$1.50        | \$1,188.00    | \$8.00     | \$6,336.00   | \$6.50       | \$5,148.00    | \$6.00        | \$4,752.00   |
| 15       | 40603340  | HOT-MIX ASPHALT SURFACE COURSE, MIX "D",<br>N70    | 8.0      | TON   | \$200.00   | \$1,600.00   | \$375.00      | \$3,000.00    | \$250.00   | \$2,000.00   | \$250.00     | \$2,000.00    | \$250.00      | \$2,000.00   |
| 16       | 42000500  | PORTLAND CEMENT CONCRETE PAVEMENT, 10 INCH         | 264.0    | SQ YD | \$67.00    | \$17,688.00  | \$59.25       | \$15,642.00   | \$60.00    | \$15,840.00  | \$55.00      | \$14,520.00   | \$65.00       | \$17,160.00  |
| 17       | 42001300  | PROTECTIVE COAT                                    | 13,347.0 | SQ YD | \$1.25     | \$16,683.75  | \$0.85        | \$11,344.95   | \$1.25     | \$16,683.75  | \$0.01       | \$133.47      | \$0.50        | \$6,673.50   |
| 18       | 42300300  | PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 7 INCH | 266.0    | SQ YD | \$20.00    | \$5,320.00   | \$44.00       | \$11,704.00   | \$41.00    | \$10,906.00  | \$40.00      | \$10,640.00   | \$45.00       | \$11,970.00  |
| 19       | 42400200  | PORTLAND CEMENT CONCRETE SIDEWALK, 5 INCH          | 7,442.0  | SQ FT | \$5.75     | \$42,791.50  | \$4.25        | \$31,628.50   | \$3.70     | \$27,535.40  | \$3.75       | \$27,907.50   | \$4.00        | \$29,768.00  |
| 20       | 42400400  | PORTLAND CEMENT CONCRETE SIDEWALK, 7 INCH          | 1,025.0  | SQ FT | \$7.40     | \$7,585.00   | \$4.75        | \$4,868.75    | \$4.50     | \$4,612.50   | \$4.50       | \$4,612.50    | \$5.00        | \$5,125.00   |
| 21       | 42400800  | DETECTABLE WARNINGS                                | 68.0     | SQ FT | \$30.00    | \$2,040.00   | \$27.50       | \$1,870.00    | \$33.00    | \$2,244.00   | \$35.00      | \$2,380.00    | \$65.00       | \$4,420.00   |
| 22       | 44000169  | HOT-MIX ASPHALT SURFACE REMOVAL, 5"                | 1,384.0  | SQ YD | \$7.00     | \$9,688.00   | \$10.45       | \$14,462.80   | \$12.00    | \$16,608.00  | \$6.75       | \$9,342.00    | \$4.50        | \$6,228.00   |
| 23       | 44000173  | HOT-MIX ASPHALT SURFACE REMOVAL, 6"                | 10,105.0 | SQ YD | \$9.00     | \$90,945.00  | \$8.00        | \$80,840.00   | \$6.00     | \$60,630.00  | \$4.50       | \$45,472.50   | \$5.50        | \$55,577.50  |
| 24       | 44000200  | DRIVEWAY PAVEMENT REMOVAL                          | 1,050.0  | SQ YD | \$13.00    | \$13,650.00  | \$1.00        | \$1,050.00    | \$6.00     | \$6,300.00   | \$12.50      | \$13,125.00   | \$12.00       | \$12,600.00  |
| 25       | 44000500  | COMBINATION CURB AND GUTTER REMOVAL                | 1,883.0  | FOOT  | \$9.00     | \$16,947.00  | \$20.00       | \$37,660.00   | \$4.00     | \$7,532.00   | \$3.50       | \$6,590.50    | \$3.00        | \$5,649.00   |
| 26       | 44000600  | SIDEWALK REMOVAL                                   | 710.0    | SQ FT | \$4.00     | \$2,840.00   | \$1.00        | \$710.00      | \$2.00     | \$1,420.00   | \$1.50       | \$1,065.00    | \$1.50        | \$1,065.00   |
| 27       | 44003100  | MEDIAN REMOVAL                                     | 171.0    | SQ FT | \$11.00    | \$1,881.00   | \$1.00        | \$171.00      | \$3.25     | \$555.75     | \$2.50       | \$427.50      | \$10.00       | \$1,710.00   |
| 28       | 60265700  | VALVE VAULTS TO BE ADJUSTED                        | 4.0      | EACH  | \$350.00   | \$1,400.00   | \$150.00      | \$600.00      | \$450.00   | \$1,800.00   | \$200.00     | \$800.00      | \$350.00      | \$1,400.00   |
| 29       | 60300105  | FRAMES AND GRATES TO BE ADJUSTED                   | 3.0      | EACH  | \$400.00   | \$1,200.00   | \$500.00      | \$1,500.00    | \$980.00   | \$2,940.00   | \$200.00     | \$600.00      | \$350.00      | \$1,050.00   |
| 30       | 60300305  | FRAMES AND LIDS TO BE ADJUSTED                     | 5.0      | EACH  | \$350.00   | \$1,750.00   | \$150.00      | \$750.00      | \$450.00   | \$2,250.00   | \$225.00     | \$1,125.00    | \$350.00      | \$1,750.00   |
| 31       | 60600605  | CONCRETE CURB, TYPE B                              | 170.0    | FOOT  | \$14.00    | \$2,380.00   | \$19.00       | \$3,230.00    | \$20.00    | \$3,400.00   | \$20.00      | \$3,400.00    | \$20.00       | \$3,400.00   |



### **Return Bid Tabulation**

Project: Deerfield Parkway and Buffalo Grove Rd UTW

Section: 10-00999-11-RS

**Description:** Deerfield Parkway and Buffalo Grove Rd Ultra-Thin Whitetopping

| Item No.  | Pay Code | Description   | Quantity | Unit   | Eng Est     | imate        | Alliance Conti | actors, Inc. | Plote Cons  | truction     | Triggi Const | ruction, Inc. | A Lamp Concret |              |
|-----------|----------|---|----------|--------|-------------|--------------|----------------|--------------|-------------|--------------|--------------|---------------|----------------|--------------|
| item ito. | ray code | Description   | Quantity | Oille  | Unit Price  | Extnd. Price | Unit Price     | Extnd. Price | Unit Price  | Extnd. Price | Unit Price   | Extnd. Price  | Unit Price     | Extnd. Price |
| 32        | 60603800 | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12   | 1,225.0  | FOOT   | \$18.00     | \$22,050.00  | \$21.00        | \$25,725.00  | \$20.00     | \$24,500.00  | \$12.50      | \$15,312.50   | \$16.00        | \$19,600.00  |
| 33        | 60605000 | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24   | 488.0    | FOOT   | \$22.00     | \$10,736.00  | \$24.50        | \$11,956.00  | \$26.50     | \$12,932.00  | \$15.00      | \$7,320.00    | \$22.00        | \$10,736.00  |
| 34        | 60618320 | CONCRETE MEDIAN SURFACE, 6 INCH   | 171.0    | SQ FT  | \$11.00     | \$1,881.00   | \$7.50         | \$1,282.50   | \$11.00     | \$1,881.00   | \$5.00       | \$855.00      | \$8.00         | \$1,368.00   |
| 35        |          | MOBILIZATION  | 1.0      | L SUM  | \$20,000.00 | \$20,000.00  | \$32,300.00    | \$32,300.00  | \$41,400.00 | \$41,400.00  | \$15,000.00  | \$15,000.00   | \$80,000.00    | \$80,000.00  |
| 36        | 70106800 | CHANGEABLE MESSAGE SIGN   | 6.0      | CAL MO | \$1,600.00  | \$9,600.00   | \$1,250.00     | \$7,500.00   | \$1,250.00  | \$7,500.00   | \$1,250.00   | \$7,500.00    | \$500.00       | \$3,000.00   |
| 37        | 78008200 | POLYUREA PAVEMENT MARKING TYPE I -<br>LETTERS AND SYMBOLS   | 255.0    | SQ FT  | \$10.00     | \$2,550.00   | \$4.40         | \$1,122.00   | \$4.40      | \$1,122.00   | \$4.40       | \$1,122.00    | \$8.00         | \$2,040.00   |
| 38        | 78008210 | POLYUREA PAVEMENT MARKING TYPE I - LINE<br>4"   | 6,608.0  | FOOT   | \$1.50      | \$9,912.00   | \$0.70         | \$4,625.60   | \$0.70      | \$4,625.60   | \$0.70       | \$4,625.60    | \$1.00         | \$6,608.00   |
| 39        | 78008220 | POLYUREA PAVEMENT MARKING TYPE I - LINE 5"  | 6,702.0  | FOOT   | \$2.00      | \$13,404.00  | \$0.85         | \$5,696.70   | \$0.85      | \$5,696.70   | \$0.85       | \$5,696.70    | \$1.50         | \$10,053.00  |
| 40        | 78008230 | POLYUREA PAVEMENT MARKING TYPE I - LINE 6"  | 555.0    | FOOT   | \$2.50      | \$1,387.50   | \$1.10         | \$610.50     | \$1.10      | \$610.50     | \$1.10       | \$610.50      | \$3.00         | \$1,665.00   |
| 41        | 78100100 | RAISED REFLECTIVE PAVEMENT MARKER   | 106.0    | EACH   | \$50.00     | \$5,300.00   | \$35.00        | \$3,710.00   | \$35.00     | \$3,710.00   | \$35.00      | \$3,710.00    | \$50.00        | \$5,300.00   |
| 42        | 78300100 | PAVEMENT MARKING REMOVAL  | 5,528.0  | SQ FT  | \$2.00      | \$11,056.00  | \$0.95         | \$5,251.60   | \$1.00      | \$5,528.00   | \$0.95       | \$5,251.60    | \$0.50         | \$2,764.00   |
| 43        | 78300200 | RAISED REFLECTIVE PAVEMENT MARKER REMOVAL   | 106.0    | EACH   | \$10.00     | \$1,060.00   | \$5.00         | \$530.00     | \$11.75     | \$1,245.50   | \$10.00      | \$1,060.00    | \$25.00        | \$2,650.00   |
| 44        | A2000620 | TREE, ACER PLATANOIDES (NORWAY MAPLE),<br>2-1/2" CALIPER, BALLED AND BURLAPPED  | 2.0      | EACH   | \$310.00    | \$620.00     | \$380.00       | \$760.00     | \$350.00    | \$700.00     | \$380.00     | \$760.00      | \$400.00       | \$800.00     |
| 45        | A2002920 | TREE, CELTIS OCCIDENTALIS (COMMON<br>HACKBERRY), 2-1/2" CALIPER, BALLED AND<br>BURLAPPED  | 6.0      | EACH   | \$290.00    | \$1,740.00   | \$435.00       | \$2,610.00   | \$350.00    | \$2,100.00   | \$435.00     | \$2,610.00    | \$400.00       | \$2,400.00   |
| 46        | A2004820 | TREE, GLEDITSIA TRIACANTHOS INERMIS<br>SKYLINE (SKYLINE THORNLESS COMMON<br>HONEYLOCUST), 2-1/2" CALIPER, BALLED AND<br>BURLAPPED | 10.0     | EACH   | \$300.00    | \$3,000.00   | \$385.00       | \$3,850.00   | \$350.00    | \$3,500.00   | \$385.00     | \$3,850.00    | \$400.00       | \$4,000.00   |
| 47        | A2005020 | TREE, GYMNOCLADUS DIOICUS (KENTUCKY<br>COFFEETREE), 2-1/2" CALIPER, BALLED AND<br>BURLAPPED                                       | 6.0      | EACH   | \$400.00    | \$2,400.00   | \$510.00       | \$3,060.00   | \$375.00    | \$2,250.00   | \$510.00     | \$3,060.00    | \$400.00       | \$2,400.00   |
| 48        | A2007120 | TREE, QUERCUS RUBRA (RED OAK), 2-1/2" CALIPER, BALLED AND BURLAPPED   | 6.0      | EACH   | \$400.00    | \$2,400.00   | \$520.00       | \$3,120.00   | \$375.00    | \$2,250.00   | \$520.00     | \$3,120.00    | \$400.00       | \$2,400.00   |
| 49        | LC200501 | MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS  | 7,600.0  | UNIT   | \$1.00      | \$7,600.00   | \$1.00         | \$7,600.00   | \$1.00      | \$7,600.00   | \$1.00       | \$7,600.00    | \$1.00         | \$7,600.00   |
| 50        | LC400180 | PORTLAND CEMENT CONCRETE BASE<br>PATCHING, 4"   | 545.0    | SQ YD  | \$12.00     | \$6,540.00   | \$50.00        | \$27,250.00  | \$18.50     | \$10,082.50  | \$30.00      | \$16,350.00   | \$60.00        | \$32,700.00  |
| 51        | X2110100 | TOPSOIL FURNISH AND PLACE, SPECIAL  | 367.0    | CU YD  | \$32.00     | \$11,744.00  | \$6.50         | \$2,385.50   | \$0.10      | \$36.70      | \$6.50       | \$2,385.50    | \$35.00        | \$12,845.00  |
| 52        | X4200750 | PORTLAND CEMENT CONCRETE OVERLAY, 5"  | 1,384.0  | SQ YD  | \$17.00     | \$23,528.00  | \$33.60        | \$46,502.40  | \$34.50     | \$47,748.00  | \$30.00      | \$41,520.00   | \$47.50        | \$65,740.00  |
| 53        | X4200760 | PORTLAND CEMENT CONCRETE OVERLAY, 6"  | 10,105.0 | SQ YD  | \$18.00     | \$181,890.00 | \$35.70        | \$360,748.50 | \$32.50     | \$328,412.50 | \$30.00      | \$303,150.00  | \$49.00        | \$495,145.00 |



### **Return Bid Tabulation**

Project: Deerfield Parkway and Buffalo Grove Rd UTW

Section: 10-00999-11-RS

Description: Deerfield Parkway and Buffalo Grove Rd Ultra-Thin Whitetopping

| Item No. | Pay Code | Description                                    | Quantity | Unit   | Eng Est     | imate        | Alliance Cont | actors, Inc. | Plote Cons  | truction     | Triggi Const | ruction, Inc. | A Lamp Concret |                |
|----------|----------|--|----------|--------|-------------|--------------|---------------|--------------|-------------|--------------|--------------|---------------|----------------|----------------|
|          |          |  |          |        | Unit Price  | Extnd. Price | Unit Price    | Extnd. Price | Unit Price  | Extnd. Price | Unit Price   | Extnd. Price  | Unit Price     | Extnd. Price   |
| 54       | X6700405 | ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)     | 4.0      | CAL MO | \$2,500.00  | \$10,000.00  | \$500.00      | \$2,000.00   | \$2,900.00  | \$11,600.00  | \$3,000.00   | \$12,000.00   | \$2,500.00     | \$10,000.00    |
| 55       | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL)       | 1.0      | L SUM  | \$30,000.00 | \$30,000.00  | \$15,286.00   | \$15,286.00  | \$15,286.00 | \$15,286.00  | \$20,000.00  | \$20,000.00   | \$70,000.00    | \$70,000.00    |
| 56       | X7030030 | WET REFLECTIVE TEMPORARY TAPE TYPE III, 4 INCH | 20,278.0 | FOOT   | \$1.05      | \$21,291.90  | \$1.25        | \$25,347.50  | \$1.25      | \$25,347.50  | \$1.25       | \$25,347.50   | \$0.50         | \$10,139.00    |
| 57       | Z0001050 | AGGREGATE SUBGRADE, 12 INCH                    | 264.0    | SQ YD  | \$19.00     | \$5,016.00   | \$10.00       | \$2,640.00   | \$15.50     | \$4,092.00   | \$15.00      | \$3,960.00    | \$13.00        | \$3,432.00     |
| 58       | Z0062456 | TEMPORARY PAVEMENT                             | 884.0    | SQ YD  | \$42.00     | \$37,128.00  | \$25.25       | \$22,321.00  | \$33.00     | \$29,172.00  | \$25.00      | \$22,100.00   | \$20.00        | \$17,680.00    |
|          |          | Bid Total                                      |          |        |             | \$769,770.15 |               | \$884,823.20 |             | \$875,831.40 |              | \$750,447.77  |                | \$1,121,767.50 |



**Project:** Deerfield Parkway and Buffalo Grove Rd UTW

Section: 10-00999-11-RS

**Description:** Deerfield Parkway and Buffalo Grove Rd Ultra-Thin Whitetopping

| Item No.   | Pay Code | Description                                   | Quantity | Unit  | Eng Est    | imate        | Min Rid Prico     | Max. Bid Price   | Avg. Bid Price |
|------------|----------|---|----------|-------|------------|--------------|-------------------|------------------|----------------|
| iteiii No. | Pay Code | Description                                   | Quantity | Offic | Unit Price | Extnd. Price | IVIIII. BIU PIICE | iviax. Blu Price | Avg. Blu Price |
|            |          |   |          |       |            |              |                   |                  |                |
| 1          | 20100110 | TREE REMOVAL (6 TO 15 UNITS DIAMETER)         | 245.0    | UNIT  | \$26.00    | \$6,370.00   | \$12.00           | \$20.00          | \$14.00        |
| 2          | 20100210 | TREE REMOVAL (OVER 15 UNITS DIAMETER)         | 24.0     | UNIT  | \$30.00    | \$720.00     | \$14.00           | \$30.00          | \$18.00        |
| 3          | 20101200 | TREE ROOT PRUNING                             | 2.0      | EACH  | \$85.00    | \$170.00     | \$65.00           | \$100.00         | \$73.75        |
| 4          | 20101350 | TREE PRUNING (OVER 10 INCH DIAMETER)          | 2.0      | EACH  | \$115.00   | \$230.00     | \$65.00           | \$125.00         | \$80.00        |
| 5          | 20101400 | NITROGEN FERTILIZER NUTRIENT                  | 31.0     | POUND | \$4.00     | \$124.00     | \$1.00            | \$2.00           | \$1.50         |
| 6          | 20101600 | POTASSIUM FERTILIZER NUTRIENT                 | 31.0     | POUND | \$4.00     | \$124.00     | \$1.00            | \$2.00           | \$1.50         |
| 7          | 20200100 | EARTH EXCAVATION                              | 927.0    | CU YD | \$28.00    | \$25,956.00  | \$10.00           | \$35.00          | \$27.38        |
| 8          | 21101615 | TOPSOIL FURNISH AND PLACE, 4"                 | 1,649.0  | SQ YD | \$5.50     | \$9,069.50   | \$2.00            | \$4.00           | \$3.30         |
| 9          | 25200110 | SODDING, SALT TOLERANT                        | 2,592.0  | SQ YD | \$4.50     | \$11,664.00  | \$5.25            | \$13.50          | \$7.75         |
| 10         | 25200200 | SUPPLEMENTAL WATERING                         | 5.0      | UNIT  | \$40.00    | \$200.00     | \$0.10            | \$1.00           | \$0.78         |
| 11         | 28000400 | PERIMETER EROSION BARRIER                     | 550.0    | FOOT  | \$4.50     | \$2,475.00   | \$2.00            | \$7.50           | \$3.68         |
| 12         | 28000510 | INLET FILTERS                                 | 31.0     | EACH  | \$150.00   | \$4,650.00   | \$50.00           | \$138.00         | \$98.25        |
| 13         | 35101600 | AGGREGATE BASE COURSE, TYPE B, 4"             | 829.0    | SQ YD | \$10.00    | \$8,290.00   | \$1.00            | \$5.50           | \$3.88         |
| 14         | 35101800 | AGGREGATE BASE COURSE, TYPE B, 6"             | 792.0    | SQ YD | \$12.00    | \$9,504.00   | \$1.50            | \$8.00           | \$5.50         |
| 15         | 40603340 | HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70  | 8.0      | TON   | \$200.00   | \$1,600.00   | \$250.00          | \$375.00         | \$281.25       |
| 16         | 42000500 | PORTLAND CEMENT CONCRETE PAVEMENT,<br>10 INCH | 264.0    | SQ YD | \$67.00    | \$17,688.00  | \$55.00           | \$65.00          | \$59.81        |



**Project:** Deerfield Parkway and Buffalo Grove Rd UTW

Section: 10-00999-11-RS

**Description:** Deerfield Parkway and Buffalo Grove Rd Ultra-Thin Whitetopping

| Item No.   | Pay Code | Description  | Quantity | Unit  | Eng Est    | imate        | Min Rid Drice    | Max. Bid Price   | Avg. Bid Price |
|------------|----------|--|----------|-------|------------|--------------|------------------|------------------|----------------|
| iteiii No. | Pay Code | Description  | Quantity | Offic | Unit Price | Extnd. Price | Willi. Blu Price | iviax. Biu Price | Avg. Blu Price |
| 17         | 42001300 | PROTECTIVE COAT                                    | 13,347.0 | SQ YD | \$1.25     | \$16,683.75  | \$0.01           | \$1.25           | \$0.65         |
| 18         | 42300300 | PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 7 INCH | 266.0    | SQ YD | \$20.00    | \$5,320.00   | \$40.00          | \$45.00          | \$42.50        |
| 19         | 42400200 | PORTLAND CEMENT CONCRETE SIDEWALK, 5 INCH          | 7,442.0  | SQ FT | \$5.75     | \$42,791.50  | \$3.70           | \$4.25           | \$3.93         |
| 20         | 42400400 | PORTLAND CEMENT CONCRETE SIDEWALK, 7 INCH          | 1,025.0  | SQ FT | \$7.40     | \$7,585.00   | \$4.50           | \$5.00           | \$4.69         |
| 21         | 42400800 | DETECTABLE WARNINGS                                | 68.0     | SQ FT | \$30.00    | \$2,040.00   | \$27.50          | \$65.00          | \$40.13        |
| 22         | 44000169 | HOT-MIX ASPHALT SURFACE REMOVAL, 5"                | 1,384.0  | SQ YD | \$7.00     | \$9,688.00   | \$4.50           | \$12.00          | \$8.43         |
| 23         | 44000173 | HOT-MIX ASPHALT SURFACE REMOVAL, 6"                | 10,105.0 | SQ YD | \$9.00     | \$90,945.00  | \$4.50           | \$8.00           | \$6.00         |
| 24         | 44000200 | DRIVEWAY PAVEMENT REMOVAL                          | 1,050.0  | SQ YD | \$13.00    | \$13,650.00  | \$1.00           | \$12.50          | \$7.88         |
| 25         | 44000500 | COMBINATION CURB AND GUTTER REMOVAL                | 1,883.0  | FOOT  | \$9.00     | \$16,947.00  | \$3.00           | \$20.00          | \$7.63         |
| 26         | 44000600 | SIDEWALK REMOVAL                                   | 710.0    | SQ FT | \$4.00     | \$2,840.00   | \$1.00           | \$2.00           | \$1.50         |
| 27         | 44003100 | MEDIAN REMOVAL                                     | 171.0    | SQ FT | \$11.00    | \$1,881.00   | \$1.00           | \$10.00          | \$4.19         |
| 28         | 60265700 | VALVE VAULTS TO BE ADJUSTED                        | 4.0      | EACH  | \$350.00   | \$1,400.00   | \$150.00         | \$450.00         |                |
| 29         | 60300105 | FRAMES AND GRATES TO BE ADJUSTED                   | 3.0      | EACH  | \$400.00   | \$1,200.00   | \$200.00         | \$980.00         | \$507.50       |
| 30         | 60300305 | FRAMES AND LIDS TO BE ADJUSTED                     | 5.0      | EACH  | \$350.00   | \$1,750.00   | \$150.00         | \$450.00         | \$293.75       |
| 31         | 60600605 | CONCRETE CURB, TYPE B                              | 170.0    | FOOT  | \$14.00    | \$2,380.00   | \$19.00          | \$20.00          | \$19.75        |



**Project:** Deerfield Parkway and Buffalo Grove Rd UTW

**Section:** 10-00999-11-RS

**Description:** Deerfield Parkway and Buffalo Grove Rd Ultra-Thin Whitetopping

| Item No.   | Pay Code | Description  | Quantity  | Unit   | Eng Est     | imate        | Min Pid Prico     | Max. Bid Price   | Avg. Bid Price |
|------------|----------|--|-----------|--------|-------------|--------------|-------------------|------------------|----------------|
| iteili No. | Pay Coue | Description  | Qualitity | Oilit  | Unit Price  | Extnd. Price | iviiii. Biu Piice | iviax. Biu Price | Avg. Blu Price |
| 32         | 60603800 | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12                              | 1,225.0   | FOOT   | \$18.00     | \$22,050.00  | \$12.50           | \$21.00          | \$17.38        |
| 33         | 60605000 | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24                              | 488.0     | FOOT   | \$22.00     | \$10,736.00  | \$15.00           | \$26.50          | \$22.00        |
| 34         | 60618320 | CONCRETE MEDIAN SURFACE, 6 INCH  | 171.0     | SQ FT  | \$11.00     | \$1,881.00   | \$5.00            | \$11.00          | \$7.88         |
| 35         | 67100100 | MOBILIZATION   | 1.0       | L SUM  | \$20,000.00 | \$20,000.00  | \$15,000.00       | \$80,000.00      | \$42,175.00    |
| 36         | 70106800 | CHANGEABLE MESSAGE SIGN  | 6.0       | CAL MO | \$1,600.00  | \$9,600.00   | \$500.00          | \$1,250.00       | \$1,062.50     |
| 37         | 78008200 | POLYUREA PAVEMENT MARKING TYPE I -<br>LETTERS AND SYMBOLS                      | 255.0     | SQ FT  | \$10.00     | \$2,550.00   | \$4.40            | \$8.00           | \$5.30         |
| 38         | 78008210 | POLYUREA PAVEMENT MARKING TYPE I - LINE 4"                                     | 6,608.0   | FOOT   | \$1.50      | \$9,912.00   | \$0.70            | \$1.00           | \$0.78         |
| 39         | 78008220 | POLYUREA PAVEMENT MARKING TYPE I - LINE 5"                                     | 6,702.0   | FOOT   | \$2.00      | \$13,404.00  | \$0.85            | \$1.50           | \$1.01         |
| 40         | 78008230 | POLYUREA PAVEMENT MARKING TYPE I - LINE 6"                                     | 555.0     | FOOT   | \$2.50      | \$1,387.50   | \$1.10            | \$3.00           | \$1.58         |
| 41         | 78100100 | RAISED REFLECTIVE PAVEMENT MARKER  | 106.0     | EACH   | \$50.00     | \$5,300.00   | \$35.00           | \$50.00          | \$38.75        |
| 42         | 78300100 | PAVEMENT MARKING REMOVAL   | 5,528.0   | SQ FT  | \$2.00      | \$11,056.00  | \$0.50            | \$1.00           | \$0.85         |
| 43         | 78300200 | RAISED REFLECTIVE PAVEMENT MARKER<br>REMOVAL                                   | 106.0     | EACH   | \$10.00     | \$1,060.00   | \$5.00            | \$25.00          | \$12.94        |
| 44         | A2000620 | TREE, ACER PLATANOIDES (NORWAY MAPLE),<br>2-1/2" CALIPER, BALLED AND BURLAPPED | 2.0       | EACH   | \$310.00    | \$620.00     | \$350.00          | \$400.00         | \$377.50       |



**Project:** Deerfield Parkway and Buffalo Grove Rd UTW

Section: 10-00999-11-RS

**Description:** Deerfield Parkway and Buffalo Grove Rd Ultra-Thin Whitetopping

| Item No. | Pay Code | Description   | Quantity | Unit  | Eng Est    | imate        | Min Rid Prico    | Max. Bid Price   | Avg. Bid Price |
|----------|----------|---|----------|-------|------------|--------------|------------------|------------------|----------------|
| item No. | Pay Code | Description   | Quantity | Ollit | Unit Price | Extnd. Price | Willi. Blu Price | IVIAX. BIG PIICE | Avg. Blu Price |
| 45       | A2002920 | TREE, CELTIS OCCIDENTALIS (COMMON<br>HACKBERRY), 2-1/2" CALIPER, BALLED AND<br>BURLAPPED  | 6.0      | EACH  | \$290.00   | \$1,740.00   | \$350.00         | \$435.00         | \$405.00       |
| 46       | A2004820 | TREE, GLEDITSIA TRIACANTHOS INERMIS<br>SKYLINE (SKYLINE THORNLESS COMMON<br>HONEYLOCUST), 2-1/2" CALIPER, BALLED AND<br>BURLAPPED | 10.0     | EACH  | \$300.00   | \$3,000.00   | \$350.00         | \$400.00         | \$380.00       |
| 47       | A2005020 | TREE, GYMNOCLADUS DIOICUS (KENTUCKY<br>COFFEETREE), 2-1/2" CALIPER, BALLED AND<br>BURLAPPED                                       | 6.0      | EACH  | \$400.00   | \$2,400.00   | \$375.00         | \$510.00         | \$448.75       |
| 48       | A2007120 | TREE, QUERCUS RUBRA (RED OAK), 2-1/2"<br>CALIPER, BALLED AND BURLAPPED  | 6.0      | EACH  | \$400.00   | \$2,400.00   | \$375.00         | \$520.00         | \$453.75       |
| 49       | LC200501 | MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS  | 7,600.0  | UNIT  | \$1.00     | \$7,600.00   | \$1.00           | \$1.00           | \$1.00         |
| 50       | LC400180 | PORTLAND CEMENT CONCRETE BASE PATCHING, 4"  | 545.0    | SQ YD | \$12.00    | \$6,540.00   | \$18.50          | \$60.00          | \$39.63        |
| 51       | X2110100 | TOPSOIL FURNISH AND PLACE, SPECIAL  | 367.0    | CU YD | \$32.00    | \$11,744.00  | \$0.10           | \$35.00          | \$12.03        |
| 52       | X4200750 | PORTLAND CEMENT CONCRETE OVERLAY, 5"  | 1,384.0  | SQ YD | \$17.00    | \$23,528.00  | \$30.00          | \$47.50          | \$36.40        |
| 53       | X4200760 | PORTLAND CEMENT CONCRETE OVERLAY, 6"  | 10,105.0 | SQ YD | \$18.00    | \$181,890.00 | \$30.00          | \$49.00          | \$36.80        |



**Project:** Deerfield Parkway and Buffalo Grove Rd UTW

Section: 10-00999-11-RS

**Description:** Deerfield Parkway and Buffalo Grove Rd Ultra-Thin Whitetopping

| Item No. | Pay Code | Description                                    | Quantity | Unit   | Eng Est     | imate        | Min Pid Prico     | May Pid Price    | Avg. Bid Price |
|----------|----------|--|----------|--------|-------------|--------------|-------------------|------------------|----------------|
| item No. | Pay Coue | Description                                    | Quantity | Oilit  | Unit Price  | Extnd. Price | IVIIII. DIU PIICE | iviax. Biu Price | Avg. Blu Price |
| 54       | X6700405 | ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)     | 4.0      | CAL MO | \$2,500.00  | \$10,000.00  | \$500.00          | \$3,000.00       | \$2,225.00     |
| 55       | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL)       | 1.0      | L SUM  | \$30,000.00 | \$30,000.00  | \$15,286.00       | \$70,000.00      | \$30,143.00    |
| 56       | X7030030 | WET REFLECTIVE TEMPORARY TAPE TYPE III, 4 INCH | 20,278.0 | FOOT   | \$1.05      | \$21,291.90  | \$0.50            | \$1.25           | \$1.06         |
| 57       | Z0001050 | AGGREGATE SUBGRADE, 12 INCH                    | 264.0    | SQ YD  | \$19.00     | \$5,016.00   | \$10.00           | \$15.50          | \$13.38        |
| 58       | Z0062456 | TEMPORARY PAVEMENT                             | 884.0    | SQ YD  | \$42.00     | \$37,128.00  | \$20.00           | \$33.00          | \$25.81        |
|          |          | Bid Total                                      |          |        |             | \$769,770.15 |                   |                  |                |